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Addition and Subtraction in data vector:
X+y, X-Y

> C(3,4’5,6) + 5 ‘R R Console
s ¢(3,4,5,6) + 5
[1] 8 9 10 11 [11] 8 9 10 11

>

3+5, 4+5, 5+5, 6+5




Addition and Subtraction in data vector:

Xty X-Y
> C(3, 4, 5, 6) + C(_31_41 -9, 7)
[1] O 0 O 13 "R RConsole

> > c(3,4,5,6) + c(-3,-4, -5, 7)
y 0O O 0 13
>

3+(-3), 4+(-4), 5+(-5), 6+7




Addition and Subtraction in data vector:

X+y, X-Y
> c(3,4,5,6) + c(7,8) # 111 ATTENTION!
[1] 10 12 12 14 R R Console

> G{3:8:5:06) *+ Of7;0)
[1] 10 12 12 14
>

3+7, 4+8, 5+7, 6+8




Addition and Subtraction in data vector:
X+y, X-VY
> c(3,4,5,6) + ¢(7,8,9) # Warning message
[1] 10 12 14 13

Warning message:
In: ¢c(3, 4, 5, 6) + c(7, 8, 9)
longer object length 1s not a multiple of

shorter object length

3+7, 448, 5+9, 6+7




Addition and Subtraction in data vector:
X+y, X-Y

R RConsole

> c(3,4,5,6) + ¢c(7,8,9)

[1] 10 12 14 13

Warning message:

In c(3, 4, 5, 6) + c(7, 8, 9)

longer object length is not a multlple of shorter object length
>



Multiplication in data vector: x *xy

> C(4,5,6,8) * 3 "R R Console
> c(4,5,6,8) * 3
[1] 12 15 18 24 (1] 12 15 18 24
o

4x3,5x3,6x3,8x3




Multiplication in data vector: x *xy

> ¢(3,4,5,6) * c(-3,-4,-5,7)
[1] —9 —16 —25 42 ‘R R Console

|> Gt13;4,;5;0) ¥ O~3;~8;~3; 1)
1] =9 =1lh =23 e
>

3x(-3),4x(-4),5x(-5),6x7




Multiplication in data vector: x *xy

> ¢(3,4,5,6) * c(6,7) # 111 ATTENTION
[1] 18 28 30 42 ‘R R Console

> ¢(3,4,5,6) * c(6,7)
[1] 18 28 30 42
3x6,4x7,5x6,6x7 >




Multiplication in data vector: x xy

> c(3,4,5,6) * ¢(7,8,9) # Warning message
[1] 21 32 45 42

Warning message:

In c(3, 4, 5, 6) * c(7, 8, 9)

longer object length

IS not a multiple of shorter object length

3x7,4x8,5x9,6x7
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Multiplication in data vector: x *xy

"R RConsole

> c¢(3,4,5,6) * c(7,8,9)

[1] 21 32 45 42

Warning message:

In a(3, 4, 5, 6) * (7, 8, 9)

longer object length is not a multiple of shorter object length
> |
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Division in data vector:x /vy

> c(2,4,6,8) / 2
[1] 12 3 4

2/2,4/2,6/2,8/2

> c(2,4,6,8) / 4
[1] 0.5 1.0 1.5 2.0

2/4,4/4,6/4,8/4

R R Console

> c(2,4,6,8) / 2

[1]
>

12 3 4

> c(2,4,6,8) / 4

[1]
>

> |

0.51.0 1.5 2.0
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Division in data vector:x /vy

> ¢(4,8,12,16) / c(-2,-4,-3,8)

[1] _2 _2 _4 2 R R Conscle
> c(4,8,12,16) / c(-2,-4,-3,8)

[1] -2 -2 -4 2
> |

4/(-2),8/(-4),12/(-3),16/ 8
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Division in data vector:x /vy

> c(4,8,12,16) / c(3,4,5,6)
[1] 1.333333 2.000000 2.400000 2.666667

4/3,8/4,12/5,16/6

R R Console

> c(4,8,12,16) / c(3,4,5,6)

[1] 1.333333 2.000000 2.400000 2.666667

> |
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Division in data vector:x /vy
> c(4,8,12,16) / c(2,4,3) # Warning message
[1] 2 2 4 8
Warning message:
In c(4, 8, 12, 16)/c(2, 4, 3) :
longer object length 1s not a multiple of

shorter object length

4/2,8/4,12/3,16/2
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Division in data vector:x /vy

"R R Console

> ¢(3,4,5,6) * c(7,8,9)

[1] 21 32 45 42

Warning message:

In a(3, 4, 5, 6) * ao(7, 8, 9)

longer object length is not a multiple of shorter object length
> |
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Power operator with data vector

> c(4,5,6,7)"2 #command: application to
a vector

[1] 16 25 36 49 # output 3 R Console

> c(4,5,6,7)72
[1] 16 25 36 49

42’ 52’ 62, 72 ”
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Power operator with data vector

> c(4,5,6,7)"c(2,3) # VIATTENTION!
Observe the operation
[1] 16 125 36 343 # output

R R Console

42, 53 62, 73 > c(4,5,6,7)%c(2,3)
[1] 16 125 36 343
>

18



Power operator with data vector

> c¢(3,4,5,6,7,8)*c(2,3,4) # command:
application to a vector
with vector

[1] 9 64 625 36 343 4096 # output

32’ 43’ 54’ 62, 73’ 84

R R Console

> ¢(3,4,5,6,7,8)*c(2,3,4)
[1] 9 64 625 36 343 4096
>
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Power operator with data vector

> c(2,4,6,7)"c(2,3,4) # Warning message
[1] 4 64 1296 49 # output

Warning message:

longer object length 1s not a multiple of

shorter object length 1n: c(2,3,5,7)"c(2,3,4)

22’ 43’ 64, 72
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Power operator with data vector

"R RConsole

> Ok ;%0 T)"0{2:3: 1)

[1] 4 64 1296 49
Warning message:

in a2, 4, 6; 1)°ci{2, 3, 4)

longer object length is not a multiple of shorter object length
>
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